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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. In the framework of “Experience Economy”, contrast B2C versus B2B services? Provide one example for each one of those specific services. (2 Points)
While Business to Customer (B2C) refers to experiences creating added value by engaging and connecting with the customer in a personal and memorable way, Business to Business (B2B) refers to services where value is derived from the coproduction or collaborative nature of the relationship. An example of B2C service can be scuba diving. Lastly, an example of B2B services can be the experience encountered at a fast-food restaurant.

2. What are the management challenges faced by service operation companies if the type of service offered is “Network Usage”? (2 Points)
The management challenges faced by service operation companies if the type of service offered is network usage are as follows:

· Service availability

· Service pricing decisions

3. How can a company taking service operations offline create an “Overall Cost Leadership” advantage? Provide an example of a service where this is not possible. (2 Points)
For services, in which the customer needs not to be present, the service transaction can be decoupled, with some content performed offline. For example a shoe repair service could locate dispersed kiosks for customer drop-off or pickup, thus consolidating orders for delivery to an off-site repair factory, which even could be located offshore. Performing services offline represents significant cost savings because of economies of scale from consolidation, low cost facility location and absence of the customer in the system. This, hence, creates an overall cost leadership advantage. Unfortunately, services for which customer needs to be physically present (ex. Barbershop services, surgery, transportation…), cannot, take parts of their service operations offline.

4. What are some of the challenges faced by service operation companies when adopting new technologies in services? (2 Points)
Some of the challenges faced by service operation companies when adopting new technologies in services are as follows:
· Success depends on customer acceptance.
· Employees often need to be retrained.
· Need adoption, by all other service operation companies, to realize full benefit.
· Incentive to innovate hampered since many ideas cannot be patented.
5. What is “Employee Empowerment”? Relate this terminology to the inverted T organization chart. (2 Points)
Employee empowerment refers to providing contact personnel with the training and information necessary to make decisions for the firm without close supervision. A successful implementation of empowerment is to design its organization chart in the form of an inverted T where the layers of supervision are drastically reduced due to contact personnel being trained, motivated, and supplied with timely, computer-based information enabling them to manage the service encounter at the point of delivery.
6. How can “Walk-through Audit” be used as a diagnostic instrument? Provide an example illustrating this. (2 Points)

Walk-through Audit can be used as a diagnostic instrument for management to evaluate the gaps in perception between customers and managers of the service delivery system. To illustrate, a service operation company can hand the same Walk-through Audit, which is handed to customers, to their employees and managers. Later, responses of both stakeholders (i.e Customers vs. Employees / Managers) will be graphed on a chart to detect any significant deviances in answers.
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